
 
Timed Extended Construction Response (ECR) Task—Grade 2 November 
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Name: _____________________________  Date: _____________________ 
 
 
 
PART A 
 
In the number 493, how many ones are there? How many hundreds? How many tens? 
 
 
 `  Enter your answer in the space provided. 
 
 
   ________ ones 
 
   ________ hundreds 
 
   ________ tens 
 
 
 
 
PART B 
 
Target has 279 iPads for sale. The store also has 463 Nintendo Switches for sale. Does the store 
have more iPads or more Nintendo Switches  for sale? How do you know?      
 
                                             Enter your answers and explanation in the space provided.  
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ANSWER KEY 

 
Rubric Part A 

Score Description 
1 Student response includes the following component: 

 
• Computation component = 1 point 

o Correct answers: 
 3 ones 
 4 hundreds 
 9 tens 

  
0 Student response is incorrect or irrelevant. 

Rubric Part B 
Score Description 

2 Student response includes the following components: 
 

• Computation component = 1 point 
o Correct answer, more Nintendo Switches.  

• Reasoning component = 1 point 
o The student explains why there are more Nintendo Switches. 

 
Sample Student Response: 
 
“Target has more Nintendo Switches for sale. 463 is more than 279 because 
463 has 4 hundreds and 279 only has 2 hundreds. Since 4 is more than 2, 463 
is more than 279.” 

1 Student response includes 1 of the above elements. 
0 Student response is incorrect or irrelevant. 

Glow Grow 
  

 


